Interpreting data using an isoscape

* You have 8/Sr/86Sr and 6180 data from 10 tooth enamel
samples from a cemetery.

« Samples split into two groups (A and B), with two outliers
(Cand D).

e All teeth sampled were M3.

* The site is located above a river at the edge of a mountain
range.

 There is evidence of a settlement next to the site.
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Modelled bioavailable 87Sr/2Sr values for the global land
surface based on measured rock, soil, plant, water, animal and
human data (Bataille et al., 2020)
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